

SOME RESULTS ON FIXED POINT THEOREMS IN COMPLETE DISLOCATED QUASI-METRIC SPACE

GODAVARI JOJAR, UTTAM DOLHARE, SACHIN BASUDE, NITIN DARKUNDE and ASHWIN CHAVAN

Research Student Department of Mathematics NES Science College, Nanded-431603, India E-mail: godavarijojar@gmail.com

Professor, Department of Mathematics DSM College, Jintur-431509, India E-mail: uttamdolhare@gmail.com

Assistant Professor Department of Mathematics Maharashtra Mahavidyalaya Nilanga-413521, India E-mail: drspbasude@gmail.com

Assistant Professor School of Mathematical Sciences SRTM University, Nanded-431606, India E-mail: darkundenitin@gmail.com

Assistant Professor SIES Graduate School of Tech. Navi Mumbai-400706, India E-mail: ashwin783@gmail.com

Abstract

In this research paper, we have proved uniqueness and existence of common fixed point theorems for complete dislocated quasi-metric space (DQMS). Our results generalizes fixed point results in complete DQMSin existing research.

2020 Mathematics Subject Classification: $47H10,\,54H25.$

Keywords: dq- metric space, Cauchy sequence, complete dq-metric space, fixed point. Received November 24, 2021; Accepted December 11, 2021

1. Introduction

Fixed point theorem given by S. Banach [3] appeared in 1922, which is useful to solve the existence of solutions for the various nonlinear problems which used to arise in the various fields of sciences like biological, physical and social sciences. In 1994, S. Abramski et al. gave few facts pertaining the dislocated metric (DM). The notion of DM space was initiated by P. Hitzler et al. [4] in 2000 and gave some extensions of Banach contraction principle in complete dislocated metrics space (DMS). Zeyada et al. [8] in 2006 gave the generalization of results given by Hitzler and Seda in DQMS. Aage and Salunkein [1] gave some results in DQMS in 2008. For more results about dislocated quasi-metric space one can refer [5, 6]. In this paper, we will use the acronym DQMS for dislocated quasi-metric space.

2. Preliminaries

Definition 2.1 [7]. For $X \neq \emptyset$ consider the map $d: X \times X \rightarrow [0, \infty)$ which satisfies:

- $(dq_1) \cdot d(x, y) = d(y, x) = 0 \Longrightarrow x = y$
- $(dq_2) \cdot d(x, y) \leq d(x, z) + d(z, y), \forall x, y, z \in X$

Here *d* is called dislocated quasi-metric on *X* and (X, d) is DQMS.

Definition 2.2 [7]. In a DQMS (X, d), sequence $\{x_n\}$ converges to z, if $\lim_{n\to\infty} d(x_n, z) = 0 = \lim_{n\to\infty} d(z, x_n)$.

Definition 2.3 [7]. In a DQMS (X, d), $\{x_n\}$ is said to be Cauchy if for a given $\epsilon > 0$, $\exists n_0 \in \mathbb{N}$ such that, $\forall m, n \ge n_0$, $d(x_n, x_m) < \epsilon$ or $d(x_m, x_n) < \epsilon$.

Definition 2.4 [7]. ADQMS (X, d) is complete, if each Cauchy sequence in X is dq-convergent to a point in X.

Definition 2.5 [7]. If (X, d) be a DQMS. Then $f : X \to X$ is contraction if $\exists 0 \leq \alpha < 1$ such that for all $x, y \in X, d(fx, fy) \leq \alpha d(x, y)$.

Theorem 2.6 [8]. Let (X, d) be a complete DQMS and let $T : X \to X$ be continuous contraction function. Then in X there exists a unique fixed point of T.

Theorem 2.7 [1]. Suppose (X, d) is complete DQMS and $T: X \to X$ be

a continuous self mapping such that $\forall x, y \in X, d(Tx, Ty) \leq \beta[d(x, Tx) + d(y, Ty)], 0 \leq \beta \leq \frac{1}{2}.$

Then fixed point of T is unique.

3. Main Results

Theorem 3.1. In complete DQMS (X, d), suppose $T : X \to X$ be continuous mapping, such that

$$\forall x, y \in X, 0 \le \alpha < \frac{1}{2}, 0 \le \beta < \frac{1}{2} and 4\alpha + \beta < 1,$$
$$d(Tx, Ty) \le \alpha [d(x, Ty) + d(y, Tx)] + \beta \frac{d(y, Ty)[1 + d(x, Tx)]}{1 + d(x, y)}$$
(3.1)

Then $\exists ! u \in X$ such that T(u) = u.

Proof. Suppose $x_0 \in X$ and $\{x_n\}$ a sequence in X such that $Tx_n = x_{n+1}$. Consider,

$$\begin{split} d(x_n, x_{n+1}) &= d(Tx_{n-1}, Tx_n) \leq \alpha [d(Tx_{n-1}, Tx_n) + d(x_n, x_{n+1})] + \\ &\beta \frac{d(x_n, Tx_n)[1 + d(x_{n-1}, Tx_{n-1})]}{1 + d(x_{n-1}, x_n)} \\ &= \alpha [d(x_{n-1}, x_{n+1}) + d(x_n, x_n)] + \beta \frac{d(x_n, x_{n+1})[1 + d(x_{n-1}, x_n)]}{1 + d(x_{n-1}, x_n)} \\ &\leq \alpha [d(x_{n-1}, x_{n+1}) + d(x_n, x_{n+1})] + \beta d(x_n, x_{n+1}) + \alpha [d(x_{n-1}, x_{n+1}) + d(x_n, x_{n+1})] \\ & \text{(by triangle inequality and } d(x_n, x_n) = 0) \\ &\Rightarrow (1 - 2\alpha - \beta) d(x_n, x_{n+1}) \leq 2\alpha d(x_{n-1}, x_n) \\ & \text{i.e.} \qquad d(x_n, x_{n+1}) \leq \frac{2\alpha}{1 - (2\alpha + \beta)} d(x_{n-1}, x_n) = \lambda d(x_{n-1}, x_n), \quad \text{where} \\ &\lambda = \frac{2\alpha}{1 - (2\alpha + \beta)} < 1, \end{split}$$

[since $0 \le 4\alpha + \beta < 1 \Longrightarrow 2\alpha + (2\alpha + \beta) < 1$

i.e.
$$2\alpha < 1 - (2\alpha + \beta) \Rightarrow \frac{2\alpha}{1 - (2\alpha + \beta)} < 1$$
]

Similarly, $d(x_{n-1}, x_n) \leq \lambda d(x_{n-2}, x_{n-1})$

$$d(x_n, x_{n+1}) \le \lambda^2 d(x_{n-2}, x_{n-1})$$

Continuing in this way, we get

$$d(x_n, x_{n+1}) \le \lambda^n d(x_0, x_1)$$

Now, for any $m, n \in X$ with m > n, using the triangle inequality, we have

$$\begin{aligned} d(x_n, x_m) &\leq d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + \ldots + d(x_{m-1}, x_m) \\ &\leq \lambda^n d(x_0, x_1) \leq \lambda^{n+1} d(x_0, x_1) + \ldots + \lambda^{m-1} d(x_0, x_1) \\ &\leq (\lambda^n + \lambda^{n+1} + \ldots + \lambda^{m-1} = \frac{\lambda^n}{1 - \lambda} d(x_0, x_1), \text{ since } \lambda < 1 \end{aligned}$$

For any $\epsilon > 0$, choose $N \in \mathbb{N}$ with $\frac{\lambda^N}{1-\lambda} d(x_0, x_1) < \epsilon$.

For any $m, n \ge N$, we have

$$d(x_n, x_m) \leq rac{\lambda^n}{1-\lambda} d(x_0, x_1) \leq rac{\lambda^N}{1-\lambda} d(x_0, x_1) < \epsilon$$

 $\Rightarrow \{x_n\} \text{ is Cauchy in } (X, d). \text{ Therefore } d(x_{n-1}, x_n) \leq \lambda d(x_{n-2}, x_{n-1})$ $\exists u \in X \text{ with } \lim_{n \to \infty} x_n = u.$

:: T is continuous,

$$\because Tu = T(\lim_{n \to \infty} x_n) = \lim_{n \to \infty} T(x_n) = \lim_{n \to \infty} x_{n+1} = u$$

Hence, T(u) = u.

Uniqueness of fixed point:

Suppose that for $u, v \in X$ with $u \neq v$ and T(u) = u, T(v) = v.

We will show that d(u, u) = 0 and d(v, v) = 0. If d(u, u) > 0, then by equation (3.1), we have $d(u, u) = d(Tu, Tu) \le \alpha[d(u, Tu) + d(u, Tu)] + \beta \frac{d(u, Tu)[1 + d(u, Tu)]}{1 + d(u, u)} \le (2\alpha + \beta)d(u, u) < d(u, u)$ since $0 \le 2\alpha + \beta < 1$ which is a contraction. Hence d(u, u) = 0.

Similarly, one can show that d(v, v) = 0.

Now, we will show that d(u, v) = d(v, u) = 0

From equation (3.1), we have

$$d(u, v) = d(Tu, Tv) \le \alpha [d(u, Tv) + d(v, Tu)] + \beta \frac{d(v, Tv)[1 + d(u, Tu)]}{1 + d(u, v)}$$
$$\le \alpha [d(u, v) + d(v, u)] + \beta \frac{d(v, v)[1 + d(u, u)]}{1 + d(u, v)}$$
(3.2)

and

$$d(v, u) = d(Tu, Tv) \le \alpha [d(v, Tu) + d(u, Tv)] + \beta \frac{d(u, Tu)[1 + d(v, Tv)]}{1 + d(v, u)}$$
$$\le \alpha [d(v, u) + d(u, v)] + \beta \frac{d(u, u)[1 + d(v, v)]}{1 + d(v, u)}.$$
(3.3)

From equations (3.2) and (3.3), we get,

$$|d(u, v) - d(v, u)| = 0 \Rightarrow d(u, v) = d(v, u).$$
 (3.4)

Using equation (3.4) in equations (3.2) and (3.3), we get d(u, v) = 0 = d(v, u)

Therefore, by definition of DQMS, u = v, which is a contradiction.

Hence, $\exists ! u \in X$ with T(u) = u.

Theorem 3.2. For a complete DQMS (X, d), let $T : X \to X$ be a continuous mapping, such that $\forall x, y \in X, 0 \le \alpha_1, \alpha_2, \alpha_3 < \frac{1}{2}, 2\alpha_1 + 4\alpha_2 + \alpha_3 < 1$,

$$d(Tx, Ty) \le \alpha_1 [d(x, Tx) + d(y, Ty)] + \alpha_2 [d(x, Ty) + d(y, Tx)] + \alpha_3 \frac{d(y, Ty) [1 + d(x, Tx)]}{1 + d(x, y)}$$
(3.5)

Then $\exists ! u \in X$ with T(u) = u.

Proof. Suppose $x_0 \in X$ and $\{x_n\}$ be sequence in X such that $Tx_n = x_{n+1}$.

Consider,
$$d(x_n, x_{n+1}) = d(Tx_{n-1}, Tx_n)$$

$$\leq \alpha_1 [d(x_{n-1}, Tx_{n-1}) + d(x_n, Tx_n)] + \alpha_2 [d(x_{n-1}, Tx_n) + d(x_n, Tx_n)]$$

$$+ \alpha_3 \frac{d(x_n, Tx_n)[1 + d(x_{n-1}, Tx_{n-1})]}{1 + d(x_{n-1}, x_n)}$$

$$= \alpha_1 [d(x_{n-1}, x_n) + d(x_n, x_{n+1})] + \alpha_2 [d(x_{n-1}, x_{n+1}) + d(x_n, x_{n+1})]$$

$$+ \alpha_3 \frac{d(x_n, x_{n+1})[1 + d(x_{n-1}, x_n)]}{1 + d(x_{n-1}, x_n)}$$

$$\leq \alpha_1 d(x_{n-1}, x_n) + \alpha_1 d(x_n, x_{n+1}) + \alpha_2 d(x_{n-1}, x_{n+1}) + \alpha_2 d(x_n, x_{n+1})$$

$$+ \alpha_2 d(x_{n-1}, x_n) + \alpha_2 d(x_n, x_{n+1}) + \alpha_3 d(x_n, x_{n+1})$$

(by triangle inequality)

$$\Rightarrow (1 - \alpha_1 - 2\alpha_2 - \alpha_3)d(x_n, x_{n+1}) \le (\alpha_1 + 2\alpha_2)d(x_{n-1}, x_n)$$

 $\text{i.e.} \quad d(x_n,\,x_{n+1}) \leq \frac{(\alpha_1+2\alpha_2)}{(\alpha_1+2\alpha_2+\alpha_3)}d(x_{n-1},\,x_n) = \lambda d(x_{n-1},\,x_n), \quad \text{ where }$

$$\lambda = \frac{(\alpha_1 + 2\alpha_2)}{1 - (\alpha_1 + 2\alpha_2 + \alpha_3)} < 1$$

 $[\text{since } 0 \le 2\alpha_1 + 4\alpha_2 + \alpha_3 < 1 < 1 \Rightarrow (\alpha_1 + 2\alpha_2) + (\alpha_1 + 2\alpha_2 + \alpha_3) < 1$

i.e.
$$(\alpha_1 + 2\alpha_2) < 1 - (\alpha_1 + 2\alpha_2 + \alpha_3) \Rightarrow \frac{(\alpha_1 + 2\alpha_2)}{1 - (\alpha_1 + 2\alpha_2 + \alpha_3)} < 1$$
]

Similarly, $d(x_{n-1}, x_n) \leq \lambda d(x_{n-2}, x_{n-1})$

Advances and Applications in Mathematical Sciences, Volume 21, Issue 7, May 2022

4116

$$d(x_n, x_{n+1}) \le \lambda^2 d(x_{n-2}, x_{n-1})$$

Continuing in this way, we get

$$d(x_n, x_{n+1}) \le \lambda^n d(x_0, x_1)$$

Now, for any $m, n \in X$ with m > n, using the triangle inequality, we have

$$\begin{aligned} d(x_n, x_m) &\leq d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + \dots + d(x_{m-1}, x_m) \\ &\leq \lambda^n d(x_0, x_1) \leq \lambda^{n+1} d(x_0, x_1) + \dots + \lambda^{m-1} d(x_0, x_1) \\ &\leq (\lambda^n + \lambda^{n+1} + \dots + \lambda^{m-1} = \frac{\lambda^n}{1 - \lambda} d(x_0, x_1), \text{ since } \lambda < 1 \end{aligned}$$

For any $\epsilon > 0$, choose $N \in \mathbb{N}$ with $\frac{\lambda^n}{1-\lambda} d(x_0, x_1) < \epsilon$.

Then for $m, n \ge N$, we have

$$d(x_n, x_m) \le \frac{\lambda^n}{1-\lambda} d(x_0, x_1) \le \frac{\lambda^N}{1-\lambda} d(x_0, x_1) < \epsilon$$

Similarly, it is easy to show $d(x_m, x_n) \leq \epsilon$

This shows that, $\{x_n\}$ is a Cauchy in DQMS (X, d). Therefore $\exists u \in X$ such that $\lim_{n\to\infty} x_n = u$.

Since T is continuous, so we have

$$Tu = T(\lim_{n \to \infty} x_n) = \lim_{n \to \infty} T(x_n) = \lim_{n \to \infty} x_{n+1} = u$$

Hence, T(u) = u.

Uniqueness of fixed point:

For $u, v \in X$ with $u \neq v$ and T(u) = u, T(v) = v.

We will show that d(u, u) = 0 and d(v, v) = 0. If d(u, u) > 0, then by equation (3.5), we have $d(u, u) = d(Tu, Tu) \le \alpha_1[d(u, Tu) + d(u, Tu)] + d(u, Tu)$

$$\alpha_2[d(u, Tu) + d(u, Tu)] + \alpha_3 \frac{d(u, Tu)[1 + d(u, Tu)]}{1 + d(u, u)}$$

$$\leq (2\alpha_1 + 2\alpha_2 + \alpha_3)d(u, u) < d(u, u)$$

since $0 \le (2\alpha_1 + 2\alpha_2 + \alpha_3) < 1$, which is a contraction. Hence d(u, u) = 0.

Similarly, one can show that d(v, v) = 0

Now, we will show that d(u, v) = d(v, u) = 0

From equation (3.5), we have

$$d(u, v) = d(Tu, Tv)$$

$$\leq \alpha_1 [d(u, Tu) + d(v, Tv)] + \alpha_2 [d(u, Tv) + d(v, Tu)]$$

$$+ \alpha_3 \frac{d(v, Tv) [1 + d(u, Tu)]}{1 + d(u, v)}$$

$$[I(v, v) = I(v, v)] = [I(v, v) - I(v, v)] = \frac{d(v, v) [1 + d(u, u)]}{1 + d(u, v)} = 0$$

$$= \alpha_1 [d(u, u) + d(v, v)] + \alpha_2 [d(u, v) + d(v, u)] + \alpha_3 \frac{d(v, v)[1 + d(u, u)]}{1 + d(u, v)}$$
(3.6)

And

$$\begin{aligned} d(v, u) &= d(Tv, Tu) \\ &\leq \alpha_1 [d(v, Tv) + d(u, Tu)] + \alpha_2 [d(v, Tu) + d(u, Tv)] \\ &+ \alpha_3 \frac{d(u, Tu) [1 + d(v, Tv)]}{1 + d(v, u)} \\ &\leq \alpha_1 [d(v, v) + d(u, u)] + \alpha_2 [d(v, u) + d(u, v)] + \alpha_3 \frac{d(u, u) [1 + d(v, v)]}{1 + d(v, u)} \end{aligned}$$
(3.7)

From equations (3.6) and (3.7), we get

$$|d(u, v) - d(v, u)| = 0 \Longrightarrow d(u, v) = d(v, u)$$
(3.8)

Using equation (3.8) in equations (3.6) and (3.7), we get d(u, v) = 0 = d(v, u)

Therefore, by definition of DQMS, u = v, which is not true.

 $\therefore \exists ! u \in X \text{ such that } T(u) = u.$

4. Conclusion

Here we proved two fixed point theorems for self-continuous function in complete DQMS which combines, generalizes a number of familiar results in the history of fixed point theory.

Acknowledgement

First author thanks to SARTHI, Pune for CSMNRF-20 fellowship for carrying out this research work.

References

- [1] C. T. Aage and J. N. Salunke, The results on fixed points in dislocated and dislocated quasi-metric space, Applied Math. Sci. 2(59) (2008), 2941-2948.
- [2] S. Abramsky and A. Jung, Domain theory in hand book of logic in computer sciences, Oxford University Press 3 (1994).
- [3] S. Banach, Sur les operations dans les ensembles abstraitsetleur application aux equations integrals, Fundamental Mathematicae 3 (1922), 133-181.
- [4] P. Hitzler and A. K. Seda, Dislocated topologies, J. Electronic Engg. 51 (2000), 3-7.
- [5] K. Jha and D. Panthi, A common fixed point theorem in dislocated metric space, Applied Math. Sci. 6(91) (2012), 4497-4503.
- [6] K. Jha, K. P. Rao and D. Panthi, A common fixed point theorem for four mappings in dislocated quasi-metric space, Internet. J. Math. Sci. Engg. Appls. 6(1) (2012), 417-424.
- [7] R. Verma, Fixed point theorem in dislocated quasi-metric space, International Journal of Mathematics Trends and Technology 55(5) (2018), 364-366.
- [8] F. M. Zeyada, G. H. Hassan and M. A. Ahmed, A generalization of a fixed point theorem due to Hitzler and Seda in dislocated quasi-metric space, The Arabian J. Sci. Engg. 31(1A) (2006), 111-114.